EARAROBEEIERT — 2 N— IBISH —F

201211828 (£) 12EEHH3A

m C1 C1 #¥3%3%®Lt (xwlw | mEmml - |5 8) 0w 8
[A&4£] 1% :350,000” ~ 23#%&:63,000”  33#%&:31,500MH  43%&:17,500 . 57 :10,500 {
B BB BEBR M MHE BF (FE) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
E R . 3 3 — AN I =
2l 7| xamo7=75x L] 5:5*3 # 1.(5_1).8 3-3-3-2 | 38.4 1 498 g;ﬁ;i (Em)
L:F—TNTPN—h B:¥auTII57)L (#5) Zie]
2 g|AyaA-—d—JF H o4 glgfg% 1:{532).3 6-6-4-4 (386 — | 2 (4_953) igﬁ;ﬁf ()
v NnNyahTz BR-—F2140 AHEEE
N - RN : -1-1- - TR (ER)
31| m1xLTLER 4 6 L3 1.(522>.6 1-1-1-1 | 39.7 7 zzg;o‘ mg%m
LA—-JNHh7x B:I7L>RKU—-F1> VLI
s = TRIE : -0-0- — IO#E (k)
N . M2 AL 4 5 s 1(.35/%4.)8 2-2-2-3 | 39.7 4 (4_2;) e
L XAFAd—-IV R BETF42Yah AL e
R St—E .53 6 . — IOE= ()
5155 Aya—Q7aAq 4 4 & (13513/24) 5-5-6-6 | 39.7 [§ (5_030) ol
L:€r/n7mo4 B:UN7T BTy ]
N s RRE :53. —4-4-! . = =x£Ev (BHA
A 2 P E1% P & L) o 56.0 (11513/27) draas a0 ° (4_970) VE%IIEB%
LI7PIIXRL B:OMYLT7LTY— EAXR B
NN HFE= . 77~ — LHEZER (EH)
vd 6 TR A 4| BF 1.(593.2 7777 | 39.3 5 (i?g) LB
Z:Nd BT/ TYINR=F [id=Eie]
@ 1 — S —EBIEf
13=7r= 1,4,7,2,5,3,6
2a|=7r= 1,4,7,2,5,3,6
Jol=5r= 1,4,7,(2,3),5,6
40—+ — 1,7,4,3,2,5,6
[ /N
BB 7 130H4 714K 3-7 140H B = 3-7 260M 3EHE 1-3-7 2,690/
8 B 7 1004 1-7 790M B H 7-3 260M K31 7-3-1 5,180
3 130M 1-3 1,440M

ABICOVWTRDTEEERROODE. TR LIV,




